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1R 10 361,824 36,182
VAL /NN 12 237,315 19,776
31 FHETH 10 150,331 15,033
A|fEH 10 45,605 4,561
5|E8RE™ 12 93,853 7,821
6| RFATH 10 47,107 4,711
78R 48,618 6,077
8|/\iEH 40,343 5,763
9|{R AR 10 63,916 6,392
10 894 ARy 5 31,213 6,243
11,8 10 40,680 4,068
12|KRTTH 10 24,623 2,462
13|BRILTH 18,161 2,594
14|F¥H 55,050 6,117
15[EHAR 10 65,910 6,591
16|{EATE 12 96,841 8,070
17!Fghh 10 57,617 5,762
18| 10 29,255 2,926
19| 2= B 12 92,819 7,735
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BB M 12 329 27,417
Bt 20 367 18,350
BRI 20 . 184 9,200
I 12 405 33,750
&R 12 444 37,000
- 3=Xs5] 9 401 44,556
N 15 606 40,400
AT 21 352 16,762
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